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o l sl | AUM |
1ow |bB63 + 2789 | 5000 + 5:000; 8000 | #6652
b | FH56 + 6522 3000 + 000 | 14,000 | 13,188

C) | 8562 + 336> | 9000 + 8000 ‘ 17,000 | 16525 |
oy | 23l + W2y | 2000 + 000 | 6000 | 6431 |
e, 19632, + 26589 (20000 + 23000 | 43000 | 4g22
4, (L3852 4 24786 Lr8000+35000i43,000 72,638
g, |16895+ 38562 [1F000+ 39000 | 56000 | 55,457
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{Gno- L= Sublcl each of He follwsig- |
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M)o{ém THTO bl BEATO G oL BT O

@ e O
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JETN . o] - cose? |
1 1. [5623-2265 | 6000 — 2000 | hpoo | 3258 | No |
2. 125896 — 12036 | 2600012000 | 15000 13860 | Yes |
1 299926145569 19000045000 | 55000 54567 | Yes

14 |9090= 1010 | 9000~ 1000 | 8000 | 8080 | Yes
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414 382X 10= 3820 b 321x100= 32)00 ¢ B2EAI00-25500_
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G B285x5 d, B52x6 e ik |
Bli- 3285x5 AliBE2 X6 b

| = (3000+200+8045)x5 = (B00+50+20x6 |
= (3000x5)+ (200x5 H (00x5)+(5x5)=(B00x6 )+ (50x6)+(2.x 6) |

= 15000+ 1000+ Lo0+ 25 = 4H0OF200+12 - |
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@m Z»rfIn ﬂﬁzw (C/uvtzﬂ Lelws, dvaw o dowmeley ond
ade Alsg rwme Jhe Jup sadi fmmu{

ato leamfer AR b/ T[N Dlarder_ D
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